
 

 

 
Summative Assessment II in   SOCIAL STUDIES   –  Std. 9   M. Marks : 90 
25-2-2016             Time : 3  hrs.  

 
Roll No: 

 
General Instructions : 
 1. The question paper has 30 questions in all.  All questions are compulsory and are to  
  be answered in serial order to avoid deduction of marks. 
 2. Marks are indicated against each question. 
 3. Questions from serial number 1 - 8 are very short answer questions of 1 mark each.   
 4.Questions from serial number 9 to 20 are 3 marks questions.  Answers of these questions 
    should not exceed 80 words each. 
 5. Questions from serial number 21 - 26 are 5 marks questions.  Answers of these  

questions  should not exceed 120 words each. 
 6. Question number 27 and 28 are map questions of 3 marks each. 
 7. Q. No./options must be clearly written on the space provided in the map. 
 8. OTBA :  Question numbers 29 & 30. 
 9. Leave the first page of the answer sheet blank. 

1. Why do Nomadic Tribes move from one place to another?    (1) 

2. What is a PIL?          (1) 

3. Define the term Rigging.          (1) 

4. What do you understand by the term Coalition Government?    (1) 

5. Define mango showers.         (1) 

6. What do you mean by the term vulnerability in terms of poverty?    (1) 

7. What is the full form of NSSO?        (1) 

8. What is international poverty line?       (1) 

9. Give any SIX similarities between Indian and African Nomads.   (3) 

10. Differentiate between Amateurs and Professionals.                                 (3)   

11. Why is Cricket a unique game?  Give Reasons.                                           (3) 

12. The outcomes of India’s elections prove that elections held in India are  
democratic. Explain.          (3) 

13. Why is a parliament important in a country?  Give any 3 reasons.   (3) 

14. What are the procedures to be followed by the government or police officer while  
arresting or detaining a citizen?         (3) 

15. What does national population policy indicate?   (any 3 points)   (3) 
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16. Sex ratio in the country has always remained unfavourable to females.   
What are its reasons?         (3) 

17. Give an account of the distribution of rainfall in India.        (1+1+1) 

18. Write the poverty line used by the world bank.  What is the poverty line on the basis  
of calorie intake in India?  Why is different in the rural and urban areas? (1+1+1) 

19. There has been a significant decline in poverty in some states of India.  
Justify with any three examples.       (1+1+1) 

20. The current anti-poverty strategy of the government is based broadly on two planks.  
What are they? Discuss the link between economic growth and poverty reduction.   

            (1+2)  

21. What role did Television play in revolutionizing the game of Cricket?  (5)   

22. How did the Maasai’s lose their grazing land?      (5)    

23. What are rights?   Explain the following fundamental rights: 
 a) Right against exploitation  b) Right to equality.  (1+2+2) 

24. List the powers and functions of the President.      (5)  

25. Give a brief description of the Mangrove forest. (any 5 points)    (5) 

26. Why is population a pivotal element in social studies?     (5) 

27. In the given map of India locate and label;      (3) 
 a) The area of Dhangar Tribes.    

b) The area of Gujjar Bakarwals. 
          c)   The area of the Raikas.                                      

28. Locate and label the following on a political map of India.    (3) 
 a) Thiruvananthapuram meteorological station. 
           b) Any one state with population density of 501 and above.On the same map 

identify. 
 c) Wild life sanctuary in Rajasthan. 

 

 

 

 

 

 

 

 



 

 

 

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



 

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



 

 

 

 

 
 

 
 
 
 
 
 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



 

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
  
 
 
 
 
 
 
 
 
 
 
 
 
 
 



 

 

 

 

 
 
 
 
 

 
 
 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

 



 

 

 

 

 

Based on the OTBA text, answer the following questions: 

29. Why were the farmers unhappy and dissatisfied with the firm known as Polsons?    
List any two advice given to these farmers by Sardar Vallabhai Patel.      (3+2) 

30. “Economic status and purchasing power of Hardeep Singh’s family increased  
manifolds.”  Comment.          (5) 
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